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(A Version A
Directions:  To receive partial credit you must show your work on a problem.
Circle final answers. All problems are 5 points each.

Graph the following equatio Find the x- and y- intercepts.
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Solve the equation.
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The length of a rectangular label is 3 cm less than twice the width. The perimeter is

10.
54 cm. Find the width. (P = 2L + 2W) (Setup an equation and solve it)
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Solve by any method.
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Perform the operation. Write the result in standard form of a complex number.
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Perform the operation. Write the result in standard form of a complex number.
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Divide. . Solve the eqtiation.
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Solve the followmg inequality. Write the solution set in j jon. (#19, 203;)
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